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Turn left at the bus stop.

(A 7oA 9F0E TAR)

A : How is it going?(e1@ A AU Yy?)

B : It's May 5th.(5¥ 5¥9]o})

I like spring. It's nice and warm.
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June 15th(6¢¥ 15¢%)

police officer(% ), doctor(&JAh),
cook(RE]A}), teacher(AA1H)

10 What does your mother do?:= 2%& &
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11 1 will play baseball, (L= oF12 1 4o} )

12 make®) 71%-& madeduizt,
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18 1 want to ~. = U= ~2 3T o) B
Yyt
17 Would you like to ~?= HZ514 2=

AdYrt,
18 1 have breakfast at 7:50.(LH= 74] 505
of oFd AARE 7))
19 Congratulations &= ‘%3}3). g= =iyt
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